SMC 277t

—

i

— —
™
al
=
=




000 SMC =723}

APIS EE¢t MHI2 JIE
Q =x

AP| &7
REST API &7

HI:H- EI—!

—
| S—

NE S




SMC 27127t

Q 01. WHATIS API?

API= 2ZEJ(H S8 E=_ 13 CIHMOIASE HIS&LIC

L= T=_1g01LE Ml A K ZotHLE XFA S22

S9lE <0l Tk GIOIELE MHIAE &6k




Q 02. WHAT IS REST API

RESTY| 9

1. &0l &S Zliet &
OF7 (B AEHZOIC

2. HIE®R
NV JSIR=

= AHI M Client 2t Server
=& 2 = oHLFO|LE

1. REST API AtE

= T1X5
Olﬂ = ‘I‘:qD

2 HTTP Z=E=0| |
2ot 0 &I 8
%*Dil JHAZE = U oHi—D

REST API: REST J|8tQ= MH|IA APIS +

SMC 27127t

RESTO| 14 4

X2 (Resource): URI

2= X0 2L IDIEEIHokL,
0] XFE Serverlfl Z=IHSH}.

sHOJ(Verb): HTTP Method
HTTP Z=&E=9| Method

S ASsHt

gk 2




SMC 27127t

Q 02. WHAT IS REST AP

REST| =&

Statelessness Cacheable
(SFAEHA) (FHAl H2l Jts)

URIZ Il’éa._f Resource(| [H 2 A= J|=
Client®] contextE 5 EoIr] T SHH Ol 2t ArZok= JIEY

"’ . ] 22 sk A Ol
Serverlfl J&olX| &= 1111IOI*"~§ =G, -

EETM .

=, M& 0 2712F 22 context D=0 M=
HHE UZMT] 20t T2 01|,H A E0l Jts 6H}
—510| S0l &Ik

e X HEX(0[OIX], JS, CSS S)E EF HXl(client, network S)UHl H&EGHH,AHOIE SEA




SMC 27127t

"MIOILF

85%




SMC 27127t

Q 04. JHE 0H&

Lambdalil 2 o}
21 ot O LT AN

oEIED =D

Openweatherapi e lambda= otdi1] ofH
[H= JHE= ' SHAL J|Q|E OLfarod M 2t AAH|
" =diz HHHM 88

HEd JHEH




SMC 27=71

weathers(lat, lon):

url = t . it p.org ta/2. ther?lat . ppi : ; 1717aad48.: eunit et .format(lat, lon)

temp = data|
max_temp
min_temp =
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school menu(current date time) :

next day = current _date time + T3 1= 11 (days=1)
formatted_ date next day.strftime(

service

ur1

params

formatted date

response = | .get(url, params=params)

data = response. json()

schul Iinfo = datal calSer _ Llet ] i jfTxll
school name = schul Iinfol ! '

meal date schul infol . 1

meal menu = schul Iinfol [ - | -replace(

calories = schul Iinfol
schul infol "NT [NF ] -replace( - e, 4 b

{school name?} {meal date; ftmeal menu )y , {4calories
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message send(message):

manual code =
token url =
send url =

manual code

response = requests.post(token url, data=data)
tokens = response.json()

tokens:
open(
.dump(tokens, fp)

open/(
tokens = -load(fp)

refresh token = tokens]|
l‘j:]t = | {

>

refresh token

|
|

response =
tokens = response.json()

tokens :

access token = tokens]|

headers
data = {

!
J

response = -post(send_url,

print(response.json ),

print(

s THES THEE

-.post(token _url, data=data)
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+ access token)

headers=headers,

data=data)
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St==St=(g): 1317

o 2(g): 372

X|¥(g) : 230

H|E}RIARRE) : 194.1

E|Otl(mg) : 1.1

S|2Zctdl(mg) : 09

BIE}TIC(mg) : 82

Z&(mg) - 12983

E&(mg): 39
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